MONDAY wesk |

1. Compute:

2. Give the rule for the number sequence.
Write the next three numbers.

1,2,8,19, 42,82, __ ., _ __  ,

2. In a set of data, the sum of the dato
divided by the number of dafa items is the

O median
O mode

O range
O mean

. Draw a pair of perpendicular lines.
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5. Can this problem be solved with the "=
information given®

In 1933, a London Circus _,
offered a reward in the amount
of 20,000 British pounds for the e
capture of the Loch Ness 2
Monster. In 2005, a professor 1
from Maine announced 2
$1 million reward for 2.
photograph of the Loch Ness
Monster, Bigfoot, or the
' Abominable Snowman that
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one of the three legendary

creatures. What is the difference w
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between the amounts of the
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1. Which statement is nof true¢

a. A composite number can be divided by two.

b. -2.5 is an integer.
c. A fraction is o rational number.

d. An integer is a counting number.

2 Write this number in standard notaiion:

sixfy-six thousanc, sixfy-six

-

S ¢

£ .98 « (.02

_ompute;

. Whnich units are metriz uniis®

O grams O liters

O vards
S

L

O inches O kilometers O me
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&. What information is nef needed ic
solve the problem?

In the mountains of Nepal, some
climpers found footprints at an
altitude of 18,000 feet. The

footprints measured 11 inches long
and 5 inches wide. Other climbers
Cialm: that they saw a Yeti in the
same aree at 1€,5¢5 feet. What ic
the difference in the elevations at
wiich the two sightines occurred?
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WEDNESDAY week

1. What operation is needed to solve the

problem?

Sailors insisted that the Kraken (a
large sea creature) was 1,700 feet in

diameter when its tentacles were

outstretched. About what would the

circumference of this creature be?

This angle is a(n) __angle.

3. What number is the opposite of =372

¥. Compute: -16 + & =

ZHURSDAY weep

3. What is the absolute valye
of =135¢

: 2 2 _
2. Compute: & & + =

2
8

3. Put these in order from legst
o greatest:

2,022 plap

220 2C,200
2,2C2 202

. { * v .
. Iran average of 1,125 visitors
go fo Scotianc’s Loch Ness. each

month, how many people visif in
one yeare
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5. Which three-month period had the
most sightings ot all three creatures?

Creature Sightings
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S. a. Measure the footprint in centimaters.
[Round fo the nearest centimeter. )

b. If the scale of the drawing
s I cm =2 in,
how big would the

“actual footprint be?




